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Unit 3: Polynomial Functions Name____________________________________


Date_____________________

	Unit: 3
	Homework: 18

	Standard:

Represent and solve equations and inequalities graphically.

· MGSE9‐12.A.REI.11 Explain why the x‐coordinates of the points where the graphs of the equations y = f(x) and y = g(x) intersect are the solutions of the equation f(x) = g(x); find the solutions approximately, e.g., using technology to graph the functions, make tables of values, or find successive approximations. Include cases where f(x) and/or g(x) are linear, polynomial, rational, absolute value, exponential, and logarithmic functions.★

Solve systems of equations.

· MGSE9‐12.A.REI.7 Solve a simple system consisting of a linear equation and a quadratic polynomial equation in two variables algebraically and graphically.

	Essential Question:

· What is a point of intersection?
· Can two functions have more than one point of intersection?
· Do all systems of equations have solutions that are real numbers?
· How can systems of equations be used to model real-world situations?

	Key Words: 
Dependent system, empty set, independent system, linear equation, point of intersection, polynomial equation, quadratic equation, quadratic formula, system of equations

	Recommended Resources:

http://www.walch.com/rr/00169
http://www.walch.com/rr/00170
http://www.walch.com/rr/00171

	Graph each system of equations.  Use the graph to estimate the real solution(s), if any solutions exist.  Round solutions to the nearest tenth.

	1. f(x) = 2x -1
g(x) = 2x3 + 4x2 + 2
	2. f(x) = 2x + 3
g(x) = 2x3 + 2x2 + 3x + 2

	3. f(x) = 2x + 10
g(x) = x4 + 24x2 – 50
	4. f(x) = -5x + 8
g(x) = x3 - 2x2  - 30

	For each of the problems, the given table shows values for two functions in a system of equations.  Based on the table, what conclusions can you draw about the solutions and the x-values of any solutions?

	x

-3
-2
-1
0
1
2
3
4
5
f(x)

9
3
1
3
9
19
33
51
73
g(x)

3
9
12
15
18
21
24
27
30


	x

-3

-2

-1

0

1

2

3

4

5

f(x)

-10
-8
-6
-4
-2
0
2
4
6
g(x)

-22

-5

0

-1

-2

3

20

55

114



	Solve each system algebraically.  Round solutions to the nearest tenth.

	5. f(x) = x2 – 3x + 2

g(x) = -x + 8
	6. f(x) = x2 + 4x 

g(x) = 2x - 1

	7. f(x) = x2 + 4x + 1
g(x) = 2x  - 3
	8. f(x) = x2 – 3
g(x) = -2x - 3


